log [dY, ] dY=A1[1+A;/A1Y]

0.0 Triir unbunte Farben X, dY, logY
in BY-Richtung -1.0 0.0310.25
-0.5 0.0540.75
0.0 0.1271.25
0.5 0.3591.75
1.0 1.0912.25
AylA; = 0.2895

)
. A;=0.0205 A = 0.005
1
1

Richter_D_POZ_OZZSl
! (xy,Y}=(0,33, 0,36, 18)
——
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Iog [dY, ] dY=A4[1+A,/A Y]
0.0 Triir unbunte Farben X, dY, logY
in BY-Richtung -1.0 0.03 0.25
-0.5 0.0550.75
0.0 0.1331.25
0.5 0.3821.75
1.0 117 225

A,lA; = 0.3405
A;=0.0187 A = 0.006!
A3=10 A=10
Richter_D_POZ_OGGSl
(x,y.Y)=(0,33, 0,36, 18)
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'0,25 0,75 1,25 1,75 2,25 x,=log[Y]
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Iog [dY, ] ) dY=A4[1+A,/A Y]
0.0 Triir unbunte Farben 4 X, dY, logY
in BY-Richtung -1.0 0.0330.25

-0.5 0.0590.75

0.0 0.1391.25

0.5 0.3941.75

1.0 1.1982.25

AJlA; = 0.298
A;=0.0219 A = 0.006!
A3=1.179 A=1.685
Richter_P_PO4_066A|
(x,y.Y)=(0,33, 0,36, 18)
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'0,25 0,75 1,25 1,75 2,25 x,=log[Y]
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